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YOUR SCORE |
1. | 3p)10+24+8-7%x2-5:
a 7 b) -6.375 o -6
) (3p.) 1f 40% of a certain length is 400 cm, the complete length is:
' a) 1000 cm b) 100 cm c) 2000 cm
(3p.) 0.0000052 is written in Standard Form as:
3 a) 52x107° b) 5.2x107° ¢ 0.52x1077
(3p.) If £100 is divided in the ratio 2:3, then the larger share is:
4 a) £60 b) £40 c £90
5 (3p.) Find the circumference of a circle that has a diameter of 10 cm:
' a) 10w cm b) 20w cm c) 100w cm
(3p.) Calculate the total surface area of a solid cylinder of radius 2 cm and height 10 cm:
6 a) 40m cm? b) 48m cm? ¢) 20m cm?
(3p.) Find the volume of a cone of radius 3 cm and height 5 cm:
7.
a) 45 cm3 b) 15 cm3 ¢) 75 cm3
8 (3p.) (—4x +5) + (—x — 7) is equal to:
' a) —3x+12 b) —5x —12 o —5x—2
5
(3p.) When d is made the subject of the formula ’ ’ (bd-:l) = a, the answer is :
9.
3/7% 5 5
) d= (ba+1) b d= ba43-1 O d= 3((b ;-1)
(3p.) Find the the least common multiple (LCM) and highest common factor (HCF) of the
10. | numbers 10 and 23:
a) HCF =230,LCM =10 b) HCF =230,LCM =5 ¢ HCF=1,LCM =230
11 (3p.) Correct 0.0068 to 2 decimal places:
' a) 0.01 b) 0.007 c) 0.006
1 (3p.) Correct 2.0387 to 2 significant figures:
' a) 2.0 b) 2.03 c) 2.04
13 (3p.) The Hexadecimal number AF;q expressed in Denary is:
' a) 246 b) 175 c) 314
(3p.) The correct answer for the following operation is:
574¢
14. + 4274
a) 1023 b) 1223 c) 1123
(3p.) When the binary numbers 111101 and 1111 are added, the correct answer is:
15. a) 1001110 b) 1110010 c) 1001100
16 (3p.) Simultaneous equations are given by 5x + 2y = 9 and 2x + y = 7. What is the value of x?
' a) —3 b) —5 o 2
17 (3p.) Iflogg 2 = 0.3868, then 2logg(3) + logg(8) is:
' a) 2.0838 b) 3.3868 c) 2.7736
18 (3p.) In common logarithmic form, the characteristic of the number 17345.893 is:
' a) 5 b) 4 <) 6
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(3p.) Find the gradient of the straight line that passes through the points (4,9) and (3,14):

19.
a) -2 b) 5 c =5
(3p.) Which of the following equations produce a cubic curve?
20. ) y=-2x+4 b) y=§—10 ¢ y=x—x3—3x?
(3p.) What is the gradient of the straight line 3y = 5 — 2x?
2L ) 3 b -2 9 =2
(3p.) Express the point (,8) = (2,330") in Cartesian coordinates (x,y).
22. a) (2cos(3307),25in(330°)) b) (2sin(3307),2cos(330°)) ¢ (2cos(30"),2sin(30%))
5 o
(3p.) Express the point (12,5) in Polar coordinates (r, 8) if tan™? (5) =22.62 3nq
12 o
23 | pon-1(2) = 67.38
a) (13, 67.38") b) (12, 22.62°) o (13, 22.62")
24 (3p.) Convert 11.875, into bicimal:
' a) 1011.111, b) 1011.1111, c) 1001.110,
(3p.) Express —10 using one’s complement.
25. a) 100011 b) 110101 c 101001
(3p.) Of the following three pairs of straight line equations, which pair are parallel to each other?
26. _ _ _ _ c) y=-3x+8,
) y=4x+3, y=—4x+12 b) y=1/5x+7, Sy=x+12 y=—3+8x
97 (3p.) Angles that add up to 180° are called:
' a) Complimentary b) Supplementary ¢) Subordinate
(4p.) Find the area of the sector of a circle which has a radius 6 cm and a sector angle of 10°.
28. 2 2 T om2
a) m cm b) 2mcm c) Zcm
(4p.) If the radius of a circle is 7 and 6 is the angle subtended by an arc, find the length of the arc
29. | whenr = 3cmand 8 = 120°.
a) T cm b) 3mcm C) 2mcm
30 (3p.) Two angles are complimentaty. If one of them is 50°, what is the size of the other?
' a) 130° b) 310° c) 40°
(4p.) Convert 0.1 radians into degrees:
31. 18 ° 36 ° - o
) () b (3) 9 (53)
(4p.) Find QR P
A
50°
3
s
32. ?
\ 60°
Q R
a) 24 cm b) 26 cm C) 12cm

Good Luck...



